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Beta carotene is not protective in lung cancer
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LC No Total

Beta 3 5997 6000
Carotene

not 2 3998 4000

Total 5 9995 10000

Relative risk = Incidence of exposed
Incidence of unexposed

= = I ⇒ No effect
0,5 ↳①
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B. C Non Total

Drug 10 990 1000 Relative Incidence of Drug
Risk

=

Placebo 40 960 1000 Incidence of Placebo

Total 50 1950 2000
= # = 0,25 ⇒ sootheDrug

is Protective

L - C No LC Total

smoker 70 6930 7000

Non

smoker 7 6993 tooo

Total 77 13923 14000 Ins -_ 70*0×100=1
Inn __ 7-7000×100 = 011

RR= Incidaneofsmoker = ÷, =/0 ⇒ smoking risk factor
Incidence of nonsmoker

Asthma Asthma Free Total

smoking 75 75 150

Nonsmoking 75 225 300

Total 150 300 450

OR -_ Ad / bc = 751122£ =3
75×75

Type of study ⇒ case control
.


